Crossbraces and Hardware - Heavy Duty

Shown for
Referencle Only

Shown for
Reference Only

Reference Only

Shown for
&? ——Reference Only




Crossbraces and Hardware - Heavy Duty

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 1136670 Hardware, Crossbrace, Heavy-Duty 1 1
2 1134175 Bearing, Link Pivot 1 4
4 1056328 Plug Button, Black (1") 1 4
5 1018687 Sleeve, Bearing 1 4
6 1025705-NLA | NLA - Screw, Hex Head (5/16-24 x 3-1/4") 1 1
7 1025704 Washer, Flat (5/16 x 5/8 x 1/16") 1 2
8 1016263 Spacer, Coved (3/4 x 1 x 1/2") 1 1
9 1016301 Washer, Nylon (5/16 x 7/8 x 1/8") 1 1
10 1055348 Screw, Hex Head (1/4-28 x 1-3/4") 1 2
11 1026106-NLA | NLA - Washer (1/4 x 5/8 x 1/16") 1 4
12 1025765 Locknut (1/4-28) 1 2
13 1025730 Locknut (5/16-24) 1 1
14 A See Chart #14 Crossbraces - Heavy Duty 1 1
15 1142172 Link, Pivot, Black (18 - 20" W) 1 1
16 1142173 Link, Pivot, Black (20 - 22" W) 1 1
NOTE: A -Includes items 1-13.
#14 Crossbraces - Heavy Duty
Chair " - AN "L
Depth 18" Wide 19" Wide 20" Wide 22" Wide
18" - Right 1136630 1136636 1136642 60125715
18" - Left 1136631 1136637 1136643 60125716
19" - Right 1136632 1136638 1136644 60125717
19" - Left 1136633 1136639 1136645 60125718
20" - Right 1136634 1136640 1136646 60125720
20" - Left 1136635 1136641 1136647 60125719
21" - Right N/A N/A 1136648 60125721
21" - Left N/A N/A 1136649 60125722
22" - Right N/A N/A 1136650 1136652
22" - Left N/A N/A 1136651 1136653




